Components:
- 8 —Screws, #8 x 5/8” PPH
e 10 — Screws, #10 x 7/8” PPH Zinc
2 —Flat Plates 2" x 6"
e 4 — Flat Plates 4" x 4"

Applies to:
* Credenza & Bridge Unit & Pedestal Desk
+ Corner Unit & Bridge Unit & Credenza
» Corner Unit & Bridge Unit & Pedestal Desk

@ Attach the (2) 4 x 4 flat plates to the
underside of the top as shown in the
top view on each end of the bridge
top. Use #10 x 7/8"” zinc screws.

Use #8 x 5/8" black screws to attach
2 x 6 flat bracket to bridge back
panel, desk end panel, and credenza
panel as shown in front view.

Proper product assembly is the responsibility of the installing agent. If you have
any questions concerning these instructions, please contact Customer Service.

#2298-29002

Indiana

Arlington | Indiana

Bridge Unit Brackets
Assembly Instructions

SIDE VIEW (1)
CREDENZA TOP BRIDGE TOP ¢ DESK TOP
4" x 4" Plate —/ 4" x 4" Plate / U\
Back Side of
Upright

Seam Between Desk

UNDERSIDE OF TOP VIEW

Seam Between Desk

Top and Return Top _\ * * ,/‘ Top and Return Top
I |
2ll _* 2[’ _f
CREDENZA BRIDGE DESK
TOP TOP TOP
. {
| |
211 _’ 2" _f

CREDENZA
END PANEL

FRONT VIEW

Flat Plate 2"x6" Flat Plate 2"x6"

DESK

BRIDGE
K3 END PANEL

_5E BACK PANEL

5
Seam Between Desk

\ Seam Between Desk End & Bridge Back

Floor End & Bridge Back

800.422.5727  www.IndianaFurniture.com



	Slide Number 1
	Slide Number 2

